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1. Soluzione del problema 1 del compito A 
 

 
 
 
 
2. Soluzione del problema 4 del compito A 
 
4.1  
Studente NATURAL JOIN  
 (PROJmatricola(Studente) –   
                PROJmatricola(Esame JOINmatricola = m and voto = v and corso <> c RENmßmatricola,cßcorso,vßvoto(Esame))) 
 
 
4.2 
with NumEs as (select s.matricola as mat, s.età as e, count(m.corso) as nume 
                                   from Studente s left join Esame m on s.matricola = m.matricola 
                                   group by s.matricola, s.età) 
select ne1.mat, ne1.nume, count(ne2.mat) 
from NumEs as ne1, NumEs as ne2 
where ne1.e <= ne2.e and ne1.nume < ne2.nume 
 
 


